June 18, 2019 Regular Meeting Item # 7h Agricultural Commissioner

2019 Crop and Livestock Report



ADMILATE A WICH & MILLION - OWNE VALITY OF DUTY AN THE PROOF A LOW AND ANY THE PROOF ALL WICH AND ANY OWNER ALL AND ANY OWNER ANY OWNER AND ANY OWNER AND ANY OWNER AN				 Combined production = \$53,846,000 Inyo: 13% (\$21,499,000) 			
Karen Ran, Searctary California Department al Faad and Agriculture				 Mono: ▲ 4% (\$32,347,000) 			
	Tensea Marist Catrionnia Department			 Producers still have a long way to go to recover 			
The Honorobia Board of Supervisors, The Honorobia Board of Supervisors, County of Invo				cumulative drought losses $(2011 = +\$79,000,000)$			
Rick Puces, Organ John Parlaus, Chear			us, Chew				
Mattingelay	Mark Titleman	Stacy Corless	Jernifer Holferty	the two fargest contributions to for all value had			
Arth Gutters	Don Totheruty	Belt Gardan	Freed Storap	increases Field Crops 			
ent to Catificine o Food and, et Alvano Contries. These v et profit or loss. The contribution of the second second of the transactine y ears, or 2011-2016 Acaught. a most lightfront commodit Both of these contrasting y groups coupled with an en- ted production in ling acau- except for in many product in volve to \$32,347 000.	Agriculture Code 2729, on onlose reflect genera agrical "Strategitter agrical production "Strategitter agrical production of georges for both counting population agrical agrical ty georges for both counting population agrical agrical register agrical agrical agrical strategitter agrical agrical agrical strategitter agrical a	d is a basished completely wroll produces on within the i and Meene Countries in 2018 relates. It is monothant to a region of the got to recover i continue to be twentick or in 2018. In two Country is no protocol to a mental form Country and International form Country and International form country and International form report. If d also 16 a for the country of the region is a set of the region.	Equal, The reports is previous to disprove provident in the communication of the pro- istrated 53.8 646-000, repre- cision of the overall increase commons in control on the ac- d sirebodi products, and held dispetition products and the main site results and the main site results and the products and the products and products and products and products and products and products and products and products and products and products and products and products and products an	 Livestock and Livestock Products Mono County Ag Production \$60,000,000 \$40,000,000 \$30,000,000 \$20,000,000 \$10,000,000 \$- 2010 2011 2012 2013 2014 2015 2016 2017 2018 			

1

7h





Livestock & Livestock Pro	ducts						
	Year	Unit	Production	Value per Unit	Total		
Cattle & Calves	2018	Head	9,180	\$1,182	\$10,851,000	▲ 9%	
Came & Caives							
	2018		16,370	\$158	\$2,586,000	▼17%	
Sheep & Lambs		Head			\$3,124,000		
Wool	2018		76,800	\$2.82	\$217,000	A	
100 99		Lbs			\$213,300	▲ 2%	
	2018				\$2,290,000		
Miscellaneous	2017				32,440,000	▼ 6%	
				2018	\$15,944,000		
			Total Value	2017	\$15.755.000	▲ 1%	

				Value per		
	Year	Unit	Production	Unit	Total	
	2018	_	58,100	\$198	\$11,504,000	▲21%
Alfalfa Hay	2017	Ton		\$170	\$9,537,000	
	2018		20,500	\$70	\$1,435,000	▼21%
Pasture, Irrigated	2017	Acre	25.000			
	2018		1,078,000	\$1.39	\$1,498,000	▲ 3%
Pasture, Rangeland		Acre		51 36	\$1,458,000	
	2018		1,532	×	\$1,798,000	▼ 30%
Miscellaneous		*	1,473			
				2018	\$16,235,000	
			Total Value	2017	\$15,380,000	▲ 6%

			Year	То	tal	
			T COI	2018	\$86,300	_
Timber and Fi	rewood			2017	\$70,100	▲23%
				2018	\$86,300	
		Total Valu	10	2017	\$70 100	▲23%
					570 TQU	
Fruit & Nut Crops						
				Value per		
	Year	Unit	Production	Unit	Total	
Miscellaneous*	2018 Acres	17	1 0	\$61,200	▲ 39%	
	2017		18		\$44,200	= = 7 / 4
			Total Value	2018	\$61,200	▲ 39 %
				2017	\$44 200	
Nursery Products						
- —				Value per		
	Year	Unit	Production	Unit	Total	
Numero Canala	2018	A		1 4	\$20,000	= 0%
Nursery Stock*	2131 7	Acre			\$20.000	- 0%
				2018	\$20,000	- 00/
			Total Valu	2017	\$20,000	= 0%

	Year	Total		
	2018	\$15,944,000	▲ 1%	
Livestock & Livestock Products				
	2018	\$16,235,000	▲ 6%	
Field Crops	2017	\$15,380,000		
Forest Products	2018	\$86,300	▲ 23%	
	2011	57TD/00		
Fruit & Nut Crops	2018	\$61,200	▲ 39%	
	2017	544 200		
Numero Descharte	2018	\$20,000	= 0%	
Nursery Products	271**	\$ 20 000		
	2018	\$32,347,000	40/	
Total Value	2017	531 269 000	▲ 4%	





2018 INYO AND MONO COUNTIES CROP AND LIVESTOCK REPORT

Entire report available to view in Clerk's office, Filed with agenda. Packet for meeting of 6/18/19

Counties of Inyo and Mono Agricultural Commissioner's Office 207 W South Street, Bishop CA • 760.873.7860 • www.inyomonoagriculture.com

June 18, 2019 Regular Meeting Item # 11a Board of Supervisors

Lundy Hydroelectric Project – Water Mgmt. Issues

Statement for Mono Board of Supervisors 6-18-2019

CDFW Role

Acting as the statutory and common law trustee for fish and wildlife in California, CDFW has promoted a balanced settlement of Mill Creek water right issues through the FERC Relicensing process, and 2005 Settlement Agreement to which CDFW is signatory.

CDFW Goals

- Observe lawful water rights and the 1914 Mill Creek Decree. Diversions of Mill Creek water into the Wilson system should not exceed the 1914 court order. At the same time CDFW respects the water diverter's self determination with respect to how and when to use their lawfully diverted water.
- Abate the impacts of more than a century of dewatering on, and restore historic fish, wildlife and riparian habitat for Mill Creek between Lundy Dam and Mono Lake, through improvement of instream flows resulting consistent with 1914 court order. This would be accomplished without litigating FGC §5937 and establishing required stream release schedules, as has been implemented for other Mono Lake tributaries.
- Uphold perennial flow for fish and wildlife in the Wilson system from the return ditch outfall to DeChambeau diversion, through cooperative efforts by the water diverters. For example, BLM has used their very senior right to provide instream flow on public lands in the Wilson system downstream to state highway 167.
- Minimize CDFW participation in land and water management decisions made within the bounds of the 1914 order.

Key Points

CDFW goals remain consistent with the "Statement of Principles" shared with all parties in the public facilitated process in 2002.

In some years, up to 100% of Lundy Lake inflows has been diverted into the Wilson system, causing harm to fish, wildlife and habitats of Mill Creek.

The Settlement Parties are working together to create a data-based planning spreadsheet (the Mill Creek Allocation Planning Tool, or MCAPT) to assist compliance with the 1914 Mill Creek Decree.

Under MCAPT and the Decree, the Wilson system would continue to receive on average approximately 46% of Lundy Lake outflow.

#10

Under MCAPT and the Decree, the Wilson system would receive approximately 2/3rd of Lundy Lake outflow in drought years.